Sobviing Two-Step Gquations

Goal: Get the variable on one side of the equation by itself.

Steps to solving a two-step equation:
1. Do the inverse operation for addition or subtraction.
2. Do the inverse operation for multiplication or division.
3. Check your answer
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Two-Step Equation Practice

Solve and check the equations below. Show all your work.
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Solve each equation below. Show all necessary work
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Solve each equation below. Show all necessary work
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Steps to solving two-step word problems:

1. Read the problem carefully, Underline any key information.
2. Write a let statement.

3. Write an equation.

4. Solve the equation.

5. Check your answer

Example 1:

Nick opens a savings account with $50. Each week after, he deposits $15. In how
many 7 weeks will he have saved $5007

Step 1: Underline any key information

Step 2: Write a let statement. What does our variable represent?

let X = 3 of weeKs

Step 3: Write an equation:

50+ |Ex =500

Step 4: Solve the equation:

Co+15x=500

-50 = —959
ISx 450
15 IS
Xz 30 weeks

Step 5: Reread the question. Does your answer make sense?




Example 2

Alex rents a car for one day. The charge is $18 plus $0.12 per mile. Alex wants to
spend exactly $30. How many miles can he drive?

Step 1: Underline any key information
Step 2: Write a let statement. What does our variable represent?
Let m = & of miles

Step 3: Write an equation:
[+ 0.l2m =30

Step 4: Solve the equation:
13+0.12m=30
-1% = -8
0.12m=13
0‘[9. 0-12

= |00 m\\ts
Step 5: Re-read the question. Does your answer make sense?




Example 3:
Katie wants to buy a bicycle that costs $129. This is $24 more than 3 times what
she saved last month. How much did she save last month?
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129= 24+ 3x

- 24= - 2
105 = 3x
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